APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	MARK MODER	Page 1 of 4						
Project: LOWER B	ADGER MILL CREEK SANITARY SEWER II	TERCEPTOR PHASE 2						
Contract Number:	7291	Payment Number: 5						
DO NOT WRITE	IN THIS BOX - TO BE COMPLETED	BY CITY ENGINEERING PERSONNEL ONLY						
TOTAL FROM PAGE:	4	625,983,80						
LESS RETAINAGE:		31,299.19						
SUBTOTAL:		594,684.61						
LESS PREVIOUS PAY	MENTS:	495,915.01						
CURRENT PAYMENT	DUE:	\$ 98,769.60						
by this ap	he current payment is now due.	in accordance with the contract documents, 4-22-15 DATE						
INSPECTOR'S CERTIF The unde by this ap and that the	FICATE FOR PAYMENT: rsigned Inspector certifies that to the best plication for payment has been completed the contractor is explited to payment for the OR	of his/her knowledge, the work covered in accordance with the contract documents, amount certified. 4-29-15 DATE						
	CONTRACTOR/SUBCONTRACTORS THAT	FROM: 4-13-15 TO: 4-24-15 WORKED ON PROJECT DURING THIS PERIOD: JRS LANDSCAPING						
NOTE: SIGNED P. PARTIAL F	AYMENT REQUEST SHALL BE SUBMITTED PAYMENTS CAN BE PROCESSED EVERY TV	TO THE ENGINEER/INSPECTOR. /O WEEKS.						

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

SPEEDWAY SAND & GRAVEL, INC.
LOWER BADGER MILL CREEK SANITARY SEWER INTERCEPTOR PHASE 2
CONTRACT NO. 7291

CONTR/ PAYMEN	ACT NO. 7291					1	i		i		*****		i
1 ATME	1110.5	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
ACCOU	NT NO. ESO1-58275-810550-00-53W1299												
10704	TRAFFIC CONTROL FOR SANITARY SEWER INSTALLATION	1.00	L.S.	\$7,500.00	\$7,500.00		0.50	\$3,750.00	0.50	\$3,750.00	1.00	\$7,500.00	100.0%
10721	TRAFFIC CONTROL SIGN- PORTABLE CHANGEABLE MESSAGE BOARD	14.00	DAYS	\$125.00	\$1,750.00		21.00	\$2,625.00	0.00	\$0.00	21.00	\$2,625.00	150.0%
10914	MOBILIZATION FOR SANITARY SEWER INSTALLATION	1.00	L.S.	\$7,000.00	\$7,000.00		0.50	\$3,500.00	0.50	\$3,500.00	1.00	\$7,000.00	100.0%
20101	EXCAVATION CUT/ UNDERCUT	1,918.00	C.Y.	\$10.00	\$19,180.00		1,000.00	\$10,000.00	0.00	\$0.00	1,000.00	\$10,000.00	52.1%
20102	ROCK EXCAVATION(UNDISTRIBUTED)	50.00	C.Y.	\$10.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20109	FINISH GRADING	1.00	L.S.	\$3,000.00	\$3,000.00		0.50	\$1,500.00	0.00	\$0.00	0.50	\$1,500.00	50.0%
20140	GEOTEXTILE FABRIC TYPE SAS NON WOVEN	1,000.00	S.Y.	\$2.65	\$2,650.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20217	CLEAR STONE 3"	800.00	Ton	\$15.00	\$12,000.00		0.00	\$0.00	256.55	\$3,848.25	256.55	\$3,848.25	32.1%
20218	CRUSHED STONE (SAS ACCESS ROADS)	3,270.00	Ton	\$12.05	\$39,403.50		200.00	\$2,410.00	0.00	\$0.00	200.00	\$2,410.00	6.1%
20232	HEAVY RIP RAP	50.00	Ton	\$50.00	\$2,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20233	RIPRAP FILTER FABRIC	50.00	S.Y.	\$4.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20302	SAWCUT CONCRETE PAVEMENT- FULL DEPTH	48.00	L.F.	\$3.50	\$168.00		0.00	\$0.00	24.00	\$84.00	24.00	\$84.00	50.0%
20303	SAWCUT BITUMINOUS PAVEMENT	364.00	L.F.	\$2.00	\$728.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20314	REMOVE PIPE STORM	200.00	L.F.	\$20.00	\$4,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20402	CLEARING	30.75	STA	\$475.00	\$14,606.25		0.00	\$0.00	27.00	\$12,825.00	27.00	\$12,825.00	87.8%
20404	GRUBBING	30.75	STA	\$310.00	\$9,532.50		0.00	\$0.00	27.00	\$8,370.00	27.00	\$8,370.00	87.8%
20701	SUN TERRACE SEEDING	19,432.00	S.Y.	\$0.87	\$16,905.84		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20703	TEMPORARY SEEDING	14,404.00	SY.	\$0.67	\$9,650.68		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21001	EROSION CONTROL PLAN AND IMPLEMENTATION	1.00	L.S.	\$500.00	\$500.00		0.00	\$0.00	1.00	\$500.00	1.00	\$500.00	100.0%
21002	EROSION CONTROL INSPECTION	10.00	EACH	\$300.00	\$3,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

SPEEDWAY SAND & GRAVEL, INC.
LOWER BADGER MILL CREEK SANITARY SEWER INTERCEPTOR PHASE 2
CONTRACT NO. 7291
PAYMENT NO. 5

	ACT NO. 7291 NT NO. 5						1		1		*****		1
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
21011	CONSTRUCTION ENTRANCE	8.00	EACH	\$800.00	\$6,400.00		0.00	\$0.00	2.00	\$1,600.00	2.00	\$1,600.00	25.0%
21021	SILT FENCE COMPLETE	8,400.00	L.F.	\$2.00	\$16,800.00		1,500.00	\$3,000.00	2,500.00	\$5,000.00	4,000.00	\$8,000.00	47.6%
21064	EROSION MATTING, CLASS 1, URBAN TYPE B ORGANIC	10,000.00	S.Y.	\$1.60	\$16,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21014	CLEAR STONE BERM (DITCH CHECK)	17.00	EACH	\$300.00	\$5,100.00		3.00	\$900.00	8.00	\$2,400.00	11.00	\$3,300.00	64.7%
21301	REMOVE AND REPLACE MAILBOX	4.00	EACH	\$100.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40101	CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 1	1,176.00	Ton	\$13.10	\$15,405.60		200.00	\$2,620.00	0.00	\$0.00	200.00	\$2,620.00	17.0%
40102	CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 2 OR NO. 3	1,350.00	Ton	\$13.10	\$17,685.00		200.00	\$2,620.00	0.00	\$0.00	200.00	\$2,620.00	14.8%
40104	CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 5	1,025.00	Ton	\$10.00	\$10,250.00		200.00	\$2,000.00	0.00	\$0.00	200.00	\$2,000.00	19.5%
40202	HMA PAVEMENT TYPE E-1	754.00	Ton	\$70.45	\$53,119.30		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40211	TACK COAT	150.00	Gallons	\$3.00	\$450.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40392	REMOVE AND REPLACE 7 INCH CONCRETE SIDEWALK & DRIVE	480.00	SF	\$7.50	\$3,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50202	TYPE II DEWATERING	1.00	L.S.	\$500.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50211	SELECT BACKFILL FOR STORM SEWER	190.00	T.F.	\$1.00	\$190.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50212	SELECT BACKFILL FOR SANITARY SEWER	7,782.50	T.F.	\$1.00	\$7,782.50		563.00	\$563.00	2,937.00	\$2,937.00	3,500.00	\$3,500.00	45.0%
50225	UTILITY TRENCH Patch TYPE III	300.00	T.F.	\$40.00	\$12,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50227	UTILITY TRENCH Patch TYPE IV	150.00	T.F.	\$10.00	\$1,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50306	21" PVC SANITARY SEWER ASTM F679/PS115	5,506.50	L.F.	\$117.70	\$648,115.05		500.00	\$58,850.00	650.00	\$76,505.00	1,150.00	\$135,355.00	20.9%
50307	24" PVC SANITARY SEWER ASTM F679/PS115	1,444.00	L.F.	\$133.85	\$193,279.40		0.00	\$0.00	1,450.00	\$194,082.50	1,450.00	\$194,082.50	100.4%
50308	27" PVC SANITARY SEWER ASTM F679/PS115	832.00	L.F.	\$150.65	\$125,340.80		0.00	\$0.00	837.00	\$126,094.05	837.00	\$126,094.05	100.6%
50420	48 INCH RCP STORM PIPE	90.00	L.F.	\$175.30	\$15,777.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50470	48 INCH RCP AE	4.00	EACH	\$1,365.00	\$5,460.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50702	5' DIAMETER SAS	22.00	EACH	\$3,265.00	\$71,830.00		2.00	\$6,530.00	5.00	\$16,325.00	7.00	\$22,855.00	31.8%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

SPEEDWAY SAND & GRAVEL, INC. LOWER BADGER MILL CREEK SANITARY SEWER INTERCEPTOR PHASE 2 CONTRACT NO. 7291

PAYMENT NO. 5 ****** #10 5 1 2 3 6 7 8 9 11 12 **ESTIMATED** UNIT PRICE CONTRACT C. O. **UNITS THIS** UNITS PREV. TOTAL PERCENT APPL.(S) **ITEM** TYPE OF WORK **QUANTITIES** UNITS BID **DOLLARS DOLLARS** APPL. **EXTENSION EXTENSION** UNITS **EXTENSION** COMPLETE 50703 6' DIAMETER SAS 3.00 **EACH** \$4,765.00 \$14,295.00 0.00 \$0.00 3.00 \$14,295.00 3.00 \$14,295.00 100.0% 50801 **UTILITY LINE OPENING** 5.00 **EACH** \$1,000.00 \$5,000.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% **PAVEMENT MARKING EPOXY, LINE 4-**LF 60800 445.00 \$5.25 \$2,336.25 0.00 \$0.00 \$0.00 0.00 \$0.00 0.00 0.0% INCH REMOVE AND RESTORE GRAVEL 90070 2.00 **EACH** \$600.00 \$1,200.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% DRIVEWAY **INSTALL AND REMOVE TEMPORARY** 90071 3.00 **EACH** \$1.800.00 \$5,400.00 0.00 \$0.00 \$0.00 0.00 \$0.00 0.0% 0.00 **DRIVEWAY WITH CULVERT** REMOVE AND REPLACE DRIVEWAY 90072 2.00 **EACH** \$1,200.00 \$2,400.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% **POST WITH GATE** LF 90073 REMOVE AND REPLACE FENCE 40.00 \$20.00 \$800.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% 90074 SALVAGE TOPSOIL 33,836.00 S.Y. \$1.30 \$43,986.80 2,000.00 \$2,600.00 1,000.00 \$1,300.00 3,000.00 \$3,900.00 8.9% **TOPSOIL PLACEMENT- FARMLAND** \$20.00 2,250.00 \$45,000.00 90075 5,216.00 T.F. \$104,320.00 0.00 \$0.00 2,250.00 \$45,000.00 43.1% 1,000.00 90076 TOPSOIL(6") PLACEMENT-GENERAL 5,539.00 T.F. \$0.50 \$2,769.50 \$500.00 0.00 \$0.00 1,000.00 \$500.00 18.1% **BORE AND JACK 21" DIAMETER** 90077 75.00 L.F. \$571.00 \$42,825.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% **SANITARY SEWER AND CASING CONCRETE SLURRY PLACEMENT** 2.00 **EACH** \$600.00 90078 \$1,200.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% **APRON END WALLS CONTRACT TOTALS** \$1,608,291.97 \$103,968.00 \$622,383.80 \$518,415.80 38.7% CHANGE ORDER #1, ACC'T NO. ES01-58275-810550-00-53W1299 - 1" BARRELL SECTIONS 8.00 **EACH** \$450.00 \$3,600.00 0.00 \$0.00 8.00 \$3,600.00 8.00 \$3,600.00 100.0% **GRAND TOTALS (CONTRACT TOTALS PLUS CHANGE ORDERS)** \$1,611,891.97 \$103,968.00 \$522,015.80 \$625,983.80 38.8%